US History
Progressive Politicians

Learning Target:


I can explain what divisions in the Republican Party led to the formation of the Progressive Party and describe how Wilson was able to win the 1912 presidential election.

5.  The Division of the Republican Party & The Election of 1812

William Taft vs. The Progressives –

Three Anti-Progressive Incidents –

1.  Payne-Aldrich Tariff -

2.  Ballinger-Pinchot Affair -

-Richard Ballinger – 

-Gifford Pinchot –

3.  The Cannon Debate -


-Joseph Cannon –

-Progressives –

The Republican Party Divides

3 Steps to the Division of the Republican Party:

1.  Congressional Elections of 1910 – 

2.  Republican Primaries of 1912 – 

3.  Republican Convention of 1912 – 

Democratic Victory

The Candidates –

The winner is . . . Woodrow Wilson but why?

